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2021A22                   (BUOYANCY) 
Level 1: To find the minimum buoyant force needed, we need to find the gravitational force that we 

know is acting on the boat. Remember, these two forces need to have at least equal magnitude to ensure 

the boat floats instead of sinks. The gravitational force would be the mass of what’s floating on water (the 

boat’s mass plus the blade’s mass) multiplied by the gravitational constant. 

𝐺𝑟𝑎𝑣𝑖𝑡𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝐹𝑜𝑟𝑐𝑒 ൌ ሺ𝑀𝑎𝑠𝑠௕௢௔௧ ൅  𝑀𝑎𝑠𝑠௕௟௔ௗ௘ሻ ∗ 𝐺𝑟𝑎𝑣𝑖𝑡𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝐶𝑜𝑛𝑠𝑡𝑎𝑛𝑡 

𝐺𝑟𝑎𝑣𝑖𝑡𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝐹𝑜𝑟𝑐𝑒 ൌ ሺ90,000,000𝑘𝑔 ൅  8,200𝑘𝑔ሻ ∗ 9.8 𝑚 𝑠ଶൗ  

𝐺𝑟𝑎𝑣𝑖𝑡𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝐹𝑜𝑟𝑐𝑒 ൌ 882.98 𝑚𝑒𝑔𝑎𝑛𝑒𝑤𝑡𝑜𝑛𝑠 ൌ 882,980,000 𝑁 

Therefore, the buoyant force must also be equal to 882.98 meganewtons for the ship to float. 

 

Level 2: To solve this problem, we can look back at our equation for the buoyant force: 

𝐵𝑢𝑜𝑦𝑎𝑛𝑡 𝐹𝑜𝑟𝑐𝑒 ൌ 𝐷𝑒𝑛𝑠𝑖𝑡𝑦 𝑜𝑓 𝐹𝑙𝑢𝑖𝑑 ൈ 9.8 𝑚 𝑠ଶൗ ൈ 𝐷𝑖𝑠𝑝𝑙𝑎𝑐𝑒𝑑 𝑉𝑜𝑙𝑢𝑚𝑒 𝑜𝑓 𝐹𝑙𝑢𝑖𝑑 

We are given the density of water as 1,000 𝑘𝑔 𝑚ଷൗ  , so we need to solve for the volume of the displaced 

fluid. We can do this using the dimensions given! The volume of the displaced fluid is the volume of the 

cargo ship underwater. 

𝑉𝑜𝑙𝑢𝑚𝑒௖௔௥௚௢ ௦௛௜௣ ௨௡ௗ௘௥௪௔௧௘௥ ൌ 𝑙𝑒𝑛𝑔𝑡ℎ ∗ 𝑤𝑖𝑑𝑡ℎ ∗ 𝑑𝑒𝑝𝑡ℎ 𝑖𝑛𝑡𝑜 𝑤𝑎𝑡𝑒𝑟 

𝑉𝑜𝑙𝑢𝑚𝑒௖௔௥௚௢ ௦௛௜௣ ௨௡ௗ௘௥௪௔௧௘௥ ൌ 400 𝑚 ∗ 60 𝑚 ∗  20 𝑚 ൌ 480,000 𝑚ଷ 

𝐵𝑢𝑜𝑦𝑎𝑛𝑡 𝐹𝑜𝑟𝑐𝑒 ൌ  1,000 𝑘𝑔 𝑚ଷൗ ൈ 9.8 𝑚 𝑠ଶൗ ൈ 480,000 𝑚ଷ = 4.7 𝑔𝑖𝑔𝑎𝑛𝑒𝑤𝑡𝑜𝑛𝑠 ൌ 4,700,000,000 𝑁 
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